ELEC 120
Foundations of Electrical Engineering
Spring 2007
Homework Assignment #3 – due in class Friday, Feb. 9, 2007
Problems 1.20, 1.41, 1.52, 1.53, 1.56, and 1.58 in the text, plus the following additional problem:
1. If the following circuit could be built, it would not function properly.  In fact, the circuit diagram is meaningless.  Explain why.

[image: image1]
Notes and Hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Include the details of each problem solution, including important intermediate steps.  You will not receive credit if you do not show your work.

Prob. 1.41:  The answer to this problem is not given in the back of the book.  Try to devise a way to check your answer on your own.
Prob. 1.52:  The answers are:  a)  vgs ≈ v1, b) v2 = −25v1, c) v2 = −2.5 cos(120 t)  V.
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